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15 nuntdcs of extra time have bc_-,_."'
allotted for the candidates to reag

the queslions carefully.

This question booklet ts divided iy,

{wo secltons — Section-A any

Section-B.

Section-A, there  are

In
80 objective type guestions; oy
of which any 40 questions are to
be answered. [Lach question
carmies 1 mark. If a candidate
answers more than 40 questions,
then answers of first 40 guestions
will be euvaluated only. For
answering these darken the circle
with blue / black ball pen against
the correct option on OMR Answer
Sheet provided to you. Do not use
whitener / liguid / blade / nail
elc. on OMR Answer Sheet;
otherurise the result will be

treated invalid.
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ansuwr type gueations. Cut of

these, alght questions  are from

Physics, eight questions ure JrO7
Chemistry and eight qque SIons
are from Blology. Four queshons
are to be answered from each
subject (Physics, Chemistry and
Biology). Lach question €armes
2 marks. Apart from these there
are 6 Long Anawer lypé questions
in which twe questions each from
Physics, Chemistry and Biology
there. _long Answer (ype
guestions from Physics carnes
6§ marks ecach, and Jrom
Chamistry and Biology carnes

5 marks each Answer of oné

are

question each from Physics,
Chemistry and Biology 15
compulsory

Use of any electronic appliances s

strictly prohibited.
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QUE - ¥ / SECTION - A

RS W / ‘Objective Type Questions

YT waar Iﬁaowaqﬁgmd‘fﬁ##ﬁﬁfwmﬂfwmﬁh

T ST & Wy s B Ry e § ok @ ot 1 o o g
¥ bt wt OMR e v Fefivr wh 40 x 1 = 40

Question Nos, ] 1o 80 are of objective type. Answer any 40 questions. Each
question has four options out of which only one is eorrect. You have to
mark your selected option on the OMR sheet. : 40 x 1 = 4(
L afym & vanfs @
(A} MgCO, (B) Na,CO,
(C) caco, (D) Mg (HCO,),

The chemical formula of Chalk is

(A)  MgCO, (B) Na,CO,

-{C) caCo, (D) Mg (HCO,),
2. Tenfen § ¥9-1f yg wsiftm v 2 2
(A) | (B) e
() i (D) <R
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| 112 |
Which of the following metals is the most ductile ?

(A} Gold \ (B) Copper

Gl Iron (D)  Zinc

ﬁqﬁ““ﬂﬁ?%&;%ﬁ%ﬁﬁﬂmmﬁwﬁ?

Ay 2 B 3

(C) 4 D) 5

How many strucwural isomers of pentane, having molecular

formula CgH,, are possible ?

(A} 2 B 2

) 4 Dy 3
ARG E SCO® wE B

(A Weeers A ) fm g

iCl UeF RIS TR - Dy it g

The functional group >CO is called

(A}  aldehyde group (B} cther group
(C] alcohol group (D) carbonyl group
24(M)-H/S-41003-1s9760)| Page 5 of 40
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5. #@u@m%mmmﬁmmmmglﬂg
mﬁﬁﬁﬁaﬁlﬂﬁﬁnﬁmaﬁﬁﬁ@ma?
(A)  fafoeis B) ®EA
€ Hfomm (D) S
A metal reacts with oxygen to form a compound with high meiting
point, This cormpound is soluble in water. Which of the following
¢lements can it he 2
(A} Silicon (B) Carbon
(C)  Calcium (D) Iron
6. ArErge fa UTg 1 3795 § 2
(A) Mg B’ Cu
(C) Fe (D) Au
Malachite is an ore of which metaj 2
(A) Mg (B) Cu
(C] Fe (D] Au
7. @R w e we aiE WY f B R e §
(A)  Toga A . .(B) &
() Frga smEe (D) Treaiwm .
The process of coating a layer of zin¢ on iron is called
(A) c]ct:trnplatir;g - . [(B) corresion
’ (C) clectrolysis P _{D]  galvanisation
ml Page 6 of 40
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8. T d fo b gea wwe o TR o

(A)  Tfew ane B v

€ WIS s D)  FEShTE e

Which of the following acids is found in vincgar ?

{A)  Aceclic acid (B)  Sulphuric acid

(C)  Formic acid (D) lydrochloric acid
9. 4R iy aradaies arera 3 g R

(A) 19 %m B) 13 s

€ 1% wmaw “ (D)~ 0

The absolute refractive index-of air is actually

(A)  Ieéss than 1 .-{B) more than |

(C} equaltol D) ©
10,  FE-ATH-7ier % Fufrmes g 3o o TR T aTer & 8

(A) 30 W B) ¥ade oUW

(€ e g (D) i o Tl

Mirror used by ENT ( Ear-Nose-throat ) doctor is

(A) convex mirror _[B) concave mirror

(C] planc mirror (D} nonc of these

24(M)-H/S-41003-es/60) Page 7 of 40
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12.

13.

!1!2]
éﬁv@!ﬁmﬂummng‘m??

(A) ues (B) QAT

(C) A (D) i

Which of the following gases is used in welding ?
(A) Methane (B) Ethynce

(C) Ethanc . (D) Ethene
ThH (Alkenc) 1 BT g 2

(A} Cn H2rt + 2 [B] C” H'.En _9

(€ C,H,, (D)0 €

Hlu-l

r

The gencral formulaef an alkenc is

Al CgH, TS B) C,Hy, o
(C) C,H,, (D) C,Hy,.
Fridgs-aesaidat?

(A) e B) RS

© s D) wHAWh

Which one of the following is a clcan energy source ?

(A) Coal (B) Wood

-~C) Natural gas (D) All of thesc

[24(M)-H/S-4 1003-(s9/69) Page 8 of 40
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14. &M Wt Ry py vow & €19 FE w2 2

(A) 40%4.3 ' 3) so0ass8

i) 60868 D) 70878

Within which pil range does our body work ?

(Al 40t048 B) 50tc58

C) 60wes | (D) 701078
15. '@Gmmﬁﬁ{q’mﬂﬁﬂRQ ?

(AY  C.H.OH (B] CgH.O4

C)  C.H,,0, " (D) CeH,

Which of the following is the'chemical formula of glucosc ?

(A} C,H/OH (B} C,HO,

[C)  CH,,0, (B CeHy
16. e & oY, Hedl & ‘

(A) 17 (B) 20

© 1 @ 14

The atomic number of sodium is

(A} 17 (B) 20

[cll 11 D) 14

24(M)-H/S-41003-ss/50 Page 9 of 40

by:BSEBResult.In



18,

19.

| 1)
Y
‘ 5 - ?
Hafaram 61 oy daur 12 21 gl GAEARd i B
(Al 1 ,{,‘B’ 2

T ' o ig al is its valency 2
I'he atomic number of magnesium is 12. What | cy °

(A) 1 L 2
C) 23 (D) 4
Faiifm % P urq a1 e s o & Freiael 8 e g0 Al g

(A)  dfar - (B) . Hfsad

(C]  hiceram (D) Afafim

Which of the following metals is displaced from its salt solution by

iron ?
(A) Copper (B} Sodium
(C) Caleium (D) Magnesium

@Hiﬁﬁﬁﬁwmmmﬁmﬁmmﬁmfamm%mgp
(A) JTEEA (B] W=

(c) Trva (D) WsiF

I24(M]—H [ S5-41003-59/60) Page 10 of 40
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20.

22.

The commercial production of cthyl alcohal is done by

chemical process ?

(A} Oxidation B} Reduction
(C)  Fermentation (D} Roasting
el I W revafE g o e

(A} CalOHy, B) CaO

(C) CafHco,), (D) CaCO,

What is the chemical formula of quicklime ?

(©€) oy aebe Piesde (D) Hfewaw FowEe

{112]

which

(A} CalOH), 8) €0

(C)  Ca{HCO,), ‘({D) caco,

W 3% 3

(A)  NaCf+XIO, (B) NaCl+KI

(C) (A) 3 (B) (D) ¥ A FE @

ladized :E'-uh is

(A) NaCl +XIO, (B] NaCl + KI
{C) Both (A) and [B]. (D] Nonc of these

@R 3T I w TR W o e 2

(A)  Hiraam Tohe B) HFmuw avke THEEEE

24(M)-H/8-41003-89/601
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What is the chemieal

(A)

(B)

)

(D)

T
name ol Plaslcr of Pan

Calcium sulphate
Calcium sulphate monohydrate
Calcium sulphatc hemihydratc

Calcium chioride

23, Feite Revoll § @ vufem A 4 9

(A)

(€

(A)

TR B) S

g o wRAFH
Whal is prescnt in cathode rays ?

Electron . (B) Proton

Neutron (D) Nonc of thesc

(C)

24. 9% 4 qyo f S9-d Ay o

(A)

(C)

anirsh (B) wargshd
e : D) E A 7

Which modec of nutrition is found in fungi ?

(A)

€

Holozoic ‘(p] - Saprophytic

Autotrophic (D) None of these

[24(M)-H /S-41003-(s9/s0] Page 12 of 40
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25.

26.

27.

j1121
e 5fe v @) faafafae & fF8 S8 % 9o g w2 2
(A)  SFTR @
C)  I=aw (D) WA
Which of the fallowing lenses is used to remove short sightedness ?
(A)  Cylindrical (B) Convex
(€} Concave (D] Bifocal
0 AR ey e e Rl o aftmee i g @
A) IR F g W (B) g T8 R
{C) gitvea o gg v, (D) 5t @ v T
Most of the refratlion of the light rays cntering the cye occurs at
(A) Interface of eye lens (B) Intcrface of aqueous humour

(C) Outer surface of cornea (D) None of these

et s da Ny MEEs 2 ?
(A)  ERAT (B) S
(S o)

Which of the following is the unit of power of lcns ?

_(A) dioptre (B} watl
(C) crg (D) joule
24(M)-H/ S-41003-{s4/60) Page 13 of 40
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B

maaammnaqwm%?

28.

(B) TS
(A) 3T
() eaw D) AR

2
What typc of lens is found in human €yc
(A} Convex - (B) Bifocal
' indrical

(C) Concave (D) Cylindric

20, e % fore f g ) S A @ 2

A) sEEaam (B) et T

(©) 39 W o) @ ST

Which mirror is used as shaving mirror ?

Planc mirror

_/I(ﬁ ~ Concave mirror (B)

(C) Convex mirror (D) None of thesc

20, Ppe wg w1 Sraw U T w1 il STV, e qun wwg § @€ T
T, @ g 6 Rl #g @ few ?

(A) Tl %3 ® TR (B) UGH BIHA YT dl g & 19
(C) THA-¥g | (D) <V S yI o g wieE F 4
_@M]‘H;’ S-4 1003-(s9/60)] Page 14 D[I{-}—
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31.

32,

1112}

Il the image of an object formed by a concave mirror is virtual,

erect and larper than the object then where should be the locatiofl

of the objeet ?

The capacily 1o"bend rays of light is called

(A)  thc power of lens

(B) the reciprocal of the power of the lens
([C) the power of accommadation of the lens
(D) nonc of these

ST o9 g0 WIN qated e

(4) o (B) E

(€) T D) AW

(A} Beyond the centre of curvature
(Bl Between principal focus and centre of curvaturc
(C) At the centre of curvature

(D} Belween the pole and principal focus of the mirror
wErE 6 REm ) Dzt K e P Fwd €

(A) W R amm (B)( . AF =l awal % SHA
(€)W A wriv G 0] v A S T

24(M)-H/S-41003-153/60)
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Fhe image obtained by n concave Jens 18

(A} diminished i erect
(C)  virtual 4p) Al of thest
33. W w= e e e 7
(A) Hew @) e
©) e  p A
The word 'Gene' was coined by
(A)  Mendel | (B) * Johannsen
(C)  Lamarck (D} Darwin
34, Preftefm & fewd faciga o g @ 2
A) d=H @) dodfem
(©) Fefiard (D) Il H

In which of the following binary fission does not occur ?
__:/'[Aj Yeasl | (B) Paramoecium
(C) Euglena (D) Amoeba .

35. gy Fa § @ fees 3T EAd B ?

(A) 3BEE (B) afdw
(c) uhmal | (D) YTHIN
[24(M)-H/S4 T003-wo/e0 Pagc 16 of 40
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36.

u (1121
Pollen grains are formed in which of the following ?
(A} Ovary (B) Syl
(€1 Leaves (D) Anther
M T frafm @ 2
(Al ™ gm (B) IgRH gWI
Q) wmes g (D) e am
Bloed pressurc is controlled by
(A} Testis ~ (B) Thymus
(C)  Thyroid (D). Adrenal
37.  HR-t ) v o3 @ wEitd 2 2
(A) uylg (B) wafa
() fmfn (D) zwfEn
Which diseasc is related to respiratory system ?
(A) Diabetes (B) Malaria
{C) Pncumoma (D) Diarrhoea
38. T W Vehl 1 WX Fafaa e 2
(Al LA (B) SEAH
(©) & (D) Ffm
24(M)-H/S-41003-ws/e0 Pagc 17 of 40
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The sugar level in blood is controlled by

(A)  Estrogen (B) .Progesteronc
L) Insulin (D) Rclaxin
39, ua it & el ol Hfirn A-d 2
(A)  wTHUfRy (13) | dfarent il
C) = Fifiem (D)  &¢y R
Which i

is the longest cell of human body ?

(A)  Muscles (B) Netve ccll

(C)  Blood cell . (D)) “Hcart ccll

40, g@gmﬁm{waﬂw—mmmmﬁm%?

(A)  wriiErge (B M

(C) am (D)  =fee s
Which part of the food is digested in buccal cavily ?
(A) Carbohydrate (B) Protein

(C) Fat (D)  Nucleic acid

41. Sewm 9T AT B

(A) 8 H (B) T T
(€C) FRH (D} 3™ A
24(M] HfS -41003- fswquI Page 18 of 40
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(A} Pinyg (B)
—&F Nerium (D)
42, TR iy qan 3
B sy (B)
(€ mgvfi gu (D)
Androgen is scereted by the
(A)  Ovary (B)
(C)  Duodenym ‘5’
43.  sffwr w2
&) «H )
(€ 3iwwE = o
Style is part of
(A]  Filament B
(C) Ovary =
44, yEoh w2
Wl (B)
o s@ahw (D)

Rose

Mango

EALR-IY

HMTE g

Testes

Stomach

el o

LHRC

Gynoccium

Stamen

JAERTG F

o1 fe =+

(112]

24(M)-H/8-41003-ss/60,
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Duodenum is a part of

(A} Buccal cavity B) Stomach
(C) Large intestine (D) Small intestine
45wy A il g, S, aﬁ:%%en g1 firert = 2
[A)  IWS &9 B) a7
(C) 9T R LG
In h';«'lmﬂn beings, nasal cavity, larynx, trachca and lungs combing
to form
(A)  excretory sysiem (B) reproductive system
(C) digestive system (D). respiratory system
46. Y H STgeH IR & |
(A) RS G (B) wfifl spa Hagd
(C) et |dgd (D) M9 Hdgd
In plants, xylem is responsiblc lor
(A)  oxygen conduction (B) amino acid conduction
1€  water conduction (D)  food conduction
47. foeifer 2
(A) Uy A (B) TaTEH
(C) wMEEESe (D) a|l
24(M)-H /S-41003-159/60) Page 20 of 40
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|1121

Gibberellin g

a PhYthurmonc (B) ancnzyme

(€] carbohydrate (D) ‘

48. TR B Yo v v @ & R0 A 2 2

49.

A) Wy B) wWiR
© wdenhm (D) wifRE
Wilting Pf leaves is duc to which phytohormone?
(A} Ethylene (B) ~Abscisic acid
(C)  Cytokinin (D) Auxin

muﬁtmﬁﬁmﬁﬁmnmwwéﬁmgﬁmﬂﬁm%'
48 WAt o

(A)] THFATR A ® AfegH

(C) &l € Jr awm (D) ¥ A w7

Out of a combination of resistors, one resistor is removed and it is
found that the ncl rcsistance has increascd. The resistor was

connccted 1n

(A} parallel (B) serics
[C) cannot be said [D) nonc of these
24IMP-HIS-41005-|;,¢M¢ Pagc 21 of 40
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S0,

91,

2.

| ”2-|

W ST (60 W, 200 V) o (10w, 200V) & Q IFET 100 V I
93 &1 & 0w wfe
A) 25w (B) 10W
€ 15w D) T ¥ g A
Twa appliances rated as (60 W, 200 V) and ( 40 W, 200 V ) ar¢’
connccted acrass 100 v supply in a room. Thc total power
consumed ig
(A 25w (B) 10W
€ 115w (D) nonc of these
ﬁﬂi&aﬁﬂﬁ?—m%ﬁga—Wﬁ frge-fs & Frefia #wr & 2
A IR B) VYR
< w (D) T A ot
Which of the following eXpressions rcpresent(s) clectric power in
the circuit 2.
A} I’R B) VR
(Cy wvi J'D] All of these
I g0 H A %1 wgew AaF R
P B
(C) % (D) 3@

The maximum valuc of magnilication in a convex mirror is
(A) B) 1

2
{C) % (D) infinite

[24(M)-H/S-41003-ss7e0) Page 22 of 40
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53, [ T g, 2
A T g (B)  dreefiet g
©)  Heanfizy o Oy i a
Potential diflerence is measured by
(A} ammeter _{B) voltmetcr
(€©)  voltameter () all of these
54.  Frifen i o g o 2 0
(A) 92 - oform - 3w (@) diee - 3 R
©) P -dm-am (D) GRS e
Wtiich of the following statements is truce ?
(A)  volt=ampere - ohm  (B) volt = ohm = amperc
(C) amperc=volt+ohm (D) amperc = ohm + volt
55. Frfofea wert @ e 2
) I B
(©) gt D) dh g
Which of the following substances is a conductor ?
(A) Mica (B) Glass
1€)  Aluminium (D}  Porcelain
24(M)-H/S-41003-ses60)] Page 23 of 40
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57,

l112|

TMMehra IR HE % Fore P 3 F9 TS 2 2

(A) i (B)
C) tgmfam (D)
Which of

(A} Helium

SELE
Hif

. 2
the following is necessary Lo obtain nuclear encrgy *

(B] Uranium
€)  Aluminium (D) Chromium
FefeRen § I0F A2 2
&) arem B)
(C)  mtyg (D) Hefrm FhwE
Which of the following is the malc gamete ? |
(A)  Ovum J;[BI Sperm
{C)  Ovary (D)  Fallopian tube
SR Rt v sgrw @
(A) e (B) smaifteemy
©) i O R
An example of parasitic plant is
(A} Mushroom (B} Bryophylium
(C})  Cuscutq (D)  Pinus

by:BSEBResult.In



ﬂ (1121
50. fg@gq qr s 3

Al W @ el

€ ey (D) ¥ @ +r

Binary [lission is foandin

Al Sponge (B) Hydra

(€} Bacteria | (D)  Nonc of these
60. IR B H\-§1 gilr wfaa den R 2

(A)  TRRER B R

C) Tfemha (D). Fafem

Which hormong.is'secreted from pancreas ?

(A}  Epinephrinc (B) Testosteronc

(C) Norepinephrinc (D) Insulin
ol. freafafign § § 97 w = um 7R & fe Imed) 2 2

(A) T faamy (B) W W Hifww

(C} & T &IfFH (D) %W ] *13 &

Which among the following is responsible for clotling of blood ?

{A) Blood platclets (B)] WBC

(C}] RBC (D) Noanc of these

[24(M)-H 7S-41003s9/601 Page 25 of 40
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. D [112]
gelte Stautial g frm s 6 e vl w0 Sl g g o

62.
(\) e (B)
C) IR 3 (D) ¥ 8 asf
Which type of nitrogenous wastes is excreted by living organisms 2
(A) Urc.;:: (B)] Ammonia
(C)  Uric acid (D) Allof these
63. mﬁﬁﬁaﬁmﬁﬁmﬂﬁaﬁ'ﬂmé
(A) TR B) wRURE
(C) NN | (D). (A)3 (C) S
The change in body that occurs during adolcscencé 1s due to
(A)  Testosteronc | (B) Thyroxine
(C) Estrogen (D) Both (A) and (C)
64. WK &1 HYeW S T 2 ‘
(A) i B) ¥fsm
(C) @fEem (D) wierss Ry ;
The body is balanced by the organ
(A)  Cranium (B) Cerebrum
(C) Cerebellum (P]!‘ Brain stem
24(M)-H /S-41003-sv/s01] Pagc 26 of 40
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65. In+ CUSO4 - 211804 -

W mﬁm it B) fwemm srfisfrn

IC) Tl 3f3ray (D) R sfufea

Zn + CuSO,{ - ZnSO4 +Cu

The above rcaction is an e¢xample of a

(A} Combination reaction

(B) Displacement reaction

(€}  Double displacement reaction

(D)  Decomposition reaction
66. INYfH ad anlt § gl @ Erfi AR I R RHY B AHR

(A)  FgmR (B) @R

() anfafda @@ R (D) T8 HE

On moving (rom right to left across the period of the modern

periodic table, the atomic size

(A) increases AB)  decreases

(C) remains unchanged (D} none of these
== 124(M)-H/S-4 1003-(s9/60) Page 27 of 40
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67.

68,

69.

| 112,

aaﬁﬁhﬁmncﬁmﬁrmmﬂ%,ﬂjﬂﬂm—ﬁﬁaﬁ%

(A) e @) e
(C) Swher e (D) ™

uccd by it i
When magnesium ribbon is ignited, the flame produccd by 1t Is

(A} Yellow (8) Bluc
48 Dazling white (D) Red

TR H1 o g C,H, 31w 2

(A) 9 WEHYe® qus (B] 8 HREANE 9494
(C) 7 Hgddes w4y (D) 6 Heudeh Sy
The molccular formula of cthanc is C,H,. It has

(A) 9 covalent bonds | (B) 8.covalent bonds
[C) 7 covalent bonds (D) 6 covalent bonds
T Tafeean & @1 efedl 9 aigd & fore v €11 aren Terfee ol B
(A) Wi g (B) R HTE Uiw
(C) el @ (D) Torcem

The chemical substance used as a cast for sctting broken bones in

SUrgery is
(A) Washing soda 91 Plaster of Paris
(C) Quicklime (D) Gypsum
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70. PR 3 :
R T A 3 5
(Al K
(B) MgCl,
(C) CH,
(D) NaCl
Which
onc of the l'ollnwing is a covalent compound ?
(A)  KCi
(B) MgCl,
(C) CH
¢ (D) NaCl
71, SRR T 1 e e g 2
(A)  Idm &) ;
Q) wt (D). ¥ & B
An aqueous salution of ammonium chloride is
(A} neutral ' (B) acidic
(C)  Dbasic (D) nonc of these
72. Tr=ifsa ﬁﬁqﬁmmgﬁmﬁ%?
(A) oI (B) HEEH
(€ Tus (D) DEEE
Which of the following is a good conductor of electricity ?
(A} Plastic (B) lodine
(C) Sulphur _A4P) Graphitc
34(M)-1/5-4 1003-s7601] Page 29 of 40
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73,

74,

75.

| €) 40 cm

[ 12}
FFEG 20 cm ¥ srae odr 1 < B €
A) 15¢em (B) 10cm
C)  40cm (D) €0cm
The radius of c:t:lrvatl.irc of a concave mirror of focal length 20 em jg

A) 15¢m (B) 10cm

(Dy 6©60cm

“h*‘“mﬁmmmmmmaﬁ%amﬁ%
T ST & W wew g 7

(A)  Tergem (B) .Ul qURAA
€ T-Rigm (D) FH @ o
A white ray jg incident ‘obliquely on a glass slab. Which of the

following will oecur with the first refraction ?

(A)  Deviation (B) Total reflection
(C) Dispersion | (D) All of these
wie, forge wRwwr § Seweda wm @ g 2

A) = (B) =W

(€} Wl (D) den

In domestic electric circuit the tolour of neutral wire is
(A) Red (B} Green

(C} Black (D) Yellow

i_ 24(M)-H/S-4 1003-1!9;51:1] Page 30 ol 40
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76.

77.

78.

mﬁﬁﬁﬁﬁ*ﬁmh%mmma?
(A)  Fogm s (B) Aerinfie
) Iafin D) fage If=

In which device does the split ring act as a commutator ?

(A)  Electric motor (B) Galvanomcler

(C)  Volitmeter (D) Elcctric gcn}:rator
Hhsmiafwﬂﬁfagai‘iazaﬁmw.ﬁﬁﬁﬁ

(A)  Shua = (B). ~ 4&1 ¥

(C) dhae : (D) UEd &S

The device which directly converts solar cnergy into electricity is

(A) Danicl ccll (B) Drycell

(C) Solar cell (D) Evercady ccll

o faga ¥ew & g %1 gla0y 1200 3 31 78 Few 220 Gee F faga @@
A Rt g wrg w2

A) 12 R (B) 2-8UrR
(), 2R (D) 018 (AT
24{M)-H/S-41003-s9/60) Page 31 of 40
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79.

80.

|

Thé resistance of the filament of an clectric bulb is 1200 ohmy

How much clectric current will the bulb draw from an clectri,
sSQurce of 220 volls ?

(A} 12 ampere (B) 2-8 ampcre

(C) 2 ampere (D) 9-18 amperc

W 8 1 Rt w15 v 21 1C 1 T W

(A} 15V @ 3J

€ 1s5g ™ 0

The electromotive force of a cell is 1'5 V. The work denc on passing

a charge of 1 C will be \

(A) 15V | 3
{CT‘ I‘SJ tD] 0 .
TuTe T R S

(A) T T T W T F o R F HA
(B) 1 U g1 HEWIO F HTO

(C) oW T T&d YW F o0f Al ¥ sww
(D) 39 4 *IE T

Why is a rainbow colourful ?

_lA)  Dispersion of white light by water droplets

(B) Absorption of water droplets
(C) Dispersion of white light by air

(D) None of these
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n 112!

uvs - ¥ / SECTION - B
wfaw YIRF / Physics

¥y IAAIG 97 / Short Answer Type Questlons

. -3
qy WEAT 1#sa¢agﬁﬁwf,ﬁﬁ#ﬂ;ﬁ4mf$m#mﬁfﬂﬂ

2*8
fore 2 oiw Fraffe # .
. S,
Question Nos. 1 to & are Short Answer Type. Answer ary fi“esjj 8
Each question carries 2 marks. _ " 9
I 2 m S 2 @ e arae S8 ) 4w T A
Find the power of.a'concave [¢NS of 2 m focal length. .
2. e s e 3
Defline ampere. 2
3. wadw o0 & i da 3gam fad
Wrile any three uses of a concave mirror.
o el swi-ga w2 2 gaE O e ’

' it
What is non-renewable source of cncrgy 2 Give two _examplcs of

s UERTH 1 Wehiolq wwgmd) 2

Explain scattering of light.
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n |112|
6. aha;ﬁmﬁm_mnﬁlymlﬂaﬂamﬁﬂfmé? AT Fi| |,

- , ‘¢ law, when temperatur, |
Whl(:h quﬂnllly r{‘muinq L‘Unﬁtﬂ “l in ()hrﬂ b I "V, e p I

is constan( ? Explain,

7. IR EE-YEiai ¥ fed ) il 9 90 2
Writc any wwo properties of magnetic ficld Lincs.
8. hmmmﬁmﬁmﬁﬁﬁﬁﬁﬂﬁﬂma? )

S . [] ol j
How does the eye control the amount of lightenicring into 1t :

aﬁ'mm ] LDIIE m“'il'ype Qnﬂltiﬁﬂﬂ
‘mm 9 e Joﬂémm#:yﬁﬁf&rﬂ?ﬁﬂmﬁmm

& ferg 6 i Fraffia &1 | 1x6=6

Question Nos. 9 and 10 are Long Answer Type. Answer any one of them.

Each question carries 6 marks. I1x6=6

-

g. mmaﬁw%mmﬁﬁa%

Prove for a concave mirror % +

| 24{M)-H/S-41003-(53/60] : Papgc 34 of 40
by:BSEBResult.In




|112]

2 quiA il

What |
s the sourcc of energy of the sun ? Explain.

THRA Y / Chemistry

Y Ieg w¥ / Short Answer Type Questions

Uy Heay 11#13mmm§1nﬁﬁﬁrﬁ4mﬂ&'miwﬁ‘*

1T 2 2w Fraffes & | 4x2=8
"

Question Nos. 1] to 18 are Short Answer Type: Answer any 4 (IU*?S“‘”I
4x2=8

Each question carries 2 marks.
11. uifzag m%ﬁa&qﬁ HH &l ﬂﬂmﬁﬁﬁﬁ‘ﬂ OH ™ ¥TaA =3

uzA fm W sanfaa 210 £ 7 2

How is the concentration of OlI™ ion affected on adding & basc in

excess to sodium hydroxide solution ?

12, A T & Ferl Rrenfm &0 I @ sfdEsi w1 e @ gl

3PE Al 2
Mcntion two reactions that displace chlorine from bleaching

powder by giving cquation.
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|112]

13, Wi du1 an @ gk Q 39T < 2
What is cavalent bond 2 Give (W0 examples ol it.

14, EF i | ¢
Whal is an or¢ ?

15. mmﬁmmﬁm?? 2
Why is it .ncccs.san,r to balance a chemigal equation ?

16, mmmﬁmﬁgﬂﬂﬁmaﬁm%? 2
Why does the aq‘;lcous solution of an acid conduct clectricity ?

17, mﬁwﬁmﬁﬁﬁﬁﬂaﬁﬁﬁ:mwﬁl 2
Namc any two industries dependent on forest resources.

18, UHWW &1 g ? §igigW gAgrd| 2
What is corrosion ? Explain with example,
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n | 1121

e Jaiy
937 / Long Answer Type Questions

o7 W 1903 20 0t yantyr #1 g @ Foswit v @7 FAw &1 AT WA P

fro 5 3% fraifa ¢, ;x5-5
Question Nos. 19 ang 20 qre Long Answer Type. Answer any one of themt
Each question carries 5 marks. Ix5-3
19. 3R A uig & frepdor § g il ) e .

Wntc the steps involved in the extraction of mctals [rom orcs.

20. T9-IW & GuEA & o w1 W B ¥
Bricfly describe the benefitsiof fainwatcr harvesting.
St faart’/ Biology
¥ 39T W / Short Answer Type Questions
T wear 21 % 28 a% sy IO &1y @ Pel 4 et & v T FF WIT
%mzﬁwﬁuﬁah- 4x2=8

Question Nos. 21 to 28 are Short Answer Type. Answer any 4 questions.

Each question carries 2 marks. 4x2=8
21, TETge A ® e ? 2

Whalt is sinoauricular nodc ?
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22.

23.

24,

25.

26.

27,

28.

I3 R 2 s g ) ward)

L]

Whal is ozonc 7 Explain its importance:

DNA 3nq5Rmerm w1 amuw 21 %8 2

DNA is the basis of heredity. How ?

gl w2

What is hormone ?

gl A e w2 o

What is the rale of pelals in flowers ?
i "2
What is cnvironment ?

g = R ?

What is glycolysis ?

Qe &) oiymr 2

Define nutrition.

(112
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(112 ]
m g ¥¥ / Long Answer Type Questions

T T 290 30 def s §1 grf @ Pt v oy 3w &1 e WA E

T S 3% Fruifi 3, {x5=5
Question Nos. 29 ang 30 gre Long Answer Type. Answer any one of thent
Each question carries 5 marks. ]x5=9
29. U R 3 € > e el @ N @l I >

Define pollination. Write the cffect of rainfall.on pollination.
0. TR & gy ot Afr-oE-Ee 0, S s dmg @ AR A

ferd) I 5

Write about five important sexually transmilted diseascs, their
causal pathogens and symptoms.

e 9 & ddfda @afl srarsid,

Beee G, U%a 14, , CefdAe
&3,

UES UTat & f3e...

BSEBResult.In
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